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IPV4 (g5l o5 Jlg -
o5 ol O 38l s W lsdby b 5587 Il ()l VL i —
Int a=45 b-=18;
While( a%b 1=0 }(
Int c=a;
a=b;
b=c%a;
{
cout<<b

'3°\32°)\/\ \_AJKCJ\JL:JL\
(B ) sl sas Cleo sl i —

SV 3 ol ) dnis bl Uyl —

(D)l o (589 Dlap)lsb) ads 1555 65050 1)

Vet — Wb Al daslr — Cnl> pgle qand — 3311 jlas)

UL aleY)
1 ~Write function to merge two single dimensions arrays

2 —write the function to rotate the array for example

[1,2,3,4,5,6] it rotate by two becomse [3,4,5,6,1,2] and

) ) ) ) )

don't copy the same example

3 -Query by SQL
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4- write the four professional attributes for the software
5- write pseudo code for finding Larger by divide and
conquer

ale 725 Jle el 1llustrates bubble sort -6

ER ey alir Lslall Jisedt =7
STC Uy, -8

UDP 4 TCP ¢ 3,4 -9
plan-driven , agile o 3,41 -10

B s A ler S S 1853(STC) Jise - 11

bandwidth 1000kbps s km o ez Jskl
GDB v. a &J-u\j

B jleadd ey 51 ey Jol o 81 0l w3s Gty o5

AN 3
WOrSst case ¢ ollas) e - 12

13- A prototype is an initial version of a system used to

demonstrate concepte and try design options. (.sLs=1)
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14 The main drawback of the waterfall model is the
difficulty of accommodating change after the process is
underway. In principle, a phase has to be complete before

moving onto the next phase.(,L==))

Good software should deliver the :4 Jiz. i — 11
required functionality and performance to the user and
should be maintainable, dependable and usable

(Ao Jlgudl 144 456 L) )
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1- You have 10 users plugged into a hub running 10Mbps
half-duplex. There is a server connected to the switch
running 10Mbps half-duplex as well. How much

bandwidth does each host have to the server?
A. 10 Mbps
B. 100 kbps
C. 2 Mbps
D. 1 Mbps
2- What is the main reason the OSI model was created?

A. To create a layered model larger than the DoD model.
B. So application developers can change only one layer's
protocols at a time.

C. So different networks could communicate.

D. So Cisco could use the model.

3- How long is an IPv6 address?
A. 32 bits

B. 128 bytes

C. 64 bits

D. 128 bits
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4- Which of the following does NOT use a
'Cryptographical Technique' to protect data?

a. the use of digital signatures
b. data encryption
c. the use of stored encrypted password files

d. using asymmetric keys at 'sender' and 'receiver' nodes

5- Which of the following is the primary cause of
'invisible' damage? (i.e damage 1s of unknown extent).

a. viruses

b. computer misuse

c. computer fraud d. theft

6- Why are traditional authentication methods unsuitable
for use in computer networks?

a. they do not use cryptographical techniques

b. they do not permit high speed data flow

c. they use passwords

d. they are incompatible with the internet

7- What can a firewall protect against?

a. viruses

b. unauthenticated interactive logins from the "outside"
world

c. fire

d. connecting to and from the "outside" world

s AU 5L3



8- What is the main purpose of access control?

a. to authorise full access to authorised users

b. to limit the actions or operations that a legitimate user
can perform

c. to stop unauthorised users accessing resources

d. to protect computers from viral infections

9- Which of the following is NOT a good property of a
firewall?

a. only authorised traffic must be allowed to pass through
it

b. the firewall itself, should be immune to penetration

c. it should allow for easy modification by authorised users
d. traftic must only be allowed to pass from inside to

outside the firewall

10. Inthe ................. traversal we process all of a vertex’s

descendants before we move to an adjacent vertex.

A) Depth First

B) Breadth First
C) With First

D) Depth Limited
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11. In general, the binary search method needs no more

than ................ comparisons.

D) [log2n]+1

12— which of the following like taylor polymorphism ?

13- WLAN 1s used to ?

14- What are step-by-step approaches to solving problems
called?

A. Science

B. Technology

C. Scientific Method(s)
D. Inference(s)

E. Constant(s)

e ALLFE 5L3
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1)1f A={0,2,3,8,9} , B={1,2,8}
a. B-A= {2 8}
b. B-A= {1}
c. B-A-A-B
d. B-A={}

2) Convert from 110111 to hexadecimal

Answer 1s 37.

3) what 1s output of the following code:

int [| arr= new int []{1,2,3,4,5,6,7,8,9,10};
nt n=5;
n = arr[arr[n]/2];

n= 4;
System.out.print(arr[n]/2);

answer 1s 2
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4) what return value if {(5)

public static int f(int n){
it (n==1) return 1;
it (n==2) return 2;

it (n==3) return 3;
return f (n-1)+ (n-1);

answer 1s 10

5) what is correct after executing the following code:

Rectangle r1 = new Rectangle ();
rl.setColor (Color.blue);
Rectangle r2= r1;

R 2 setColor(Color.red);

a. rl is red, r2 is blue
b. r1 is blue, r2 1s red
c. rl is red, r2 is red

d. r1 is blue, r2 1s blue
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6) 1s a relationship ~———-————————- and has a relationship —-

a. Composition — inheritance
b. polymorphism — inheritance
c. composition — polymorphism

d. inheritance — composition

7) Software project management comprises of a number of
activities which contains ————————- :

a. Project planning

b. Scope management

c. Project estimation

d. All mentioned above

8) Which of the following is not defined in a good softwar
e Requirement Specification (SRS) document?

a. Functional Requirement

b. Nonfunctional Requirement

c. Goals of implementation

d. Algorithm for software implementations
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9) Which design identifies the software as a system with m
any components interacting with each other?

a. Architectural design

b. High-level design

c. Detailed design

d. BothB & C

10) Effective software project management focuses on the
four P's. What are those four P's?

a. People, performance, payment, product

b. people, product, process, project

c. People, product, performance, project

d. All of the above

11) If requirements are easily understandable and defined t
hen which model is best suited?

a. Spiral model

b. Waterfall model

c. Prototyping model

d. None of the above
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12) In asymmetric key cryptography, the private key is ke
pt by

a) sender

b) receiver

c) sender and receiver

d) all the connected devices to the network

13) What 1s data encryption standard (DES)
a) block cipher

b) stream cipher

c) bit cipher

d) none of the mentioned

14) in complete connected graph, number of vertices are 1
0

a. 10 edges

b. 100 edges

c. 90 edges

d. 45 edges
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15) What 1s time complexity of fun()?

int fun(int n)
{
int count = 0;
for (int 1 = 0; 1 <=nj; 1++)
for (intj = 0; j <=n; j++)
count += 1;

return count;
;
a. O(n log n)
b. O()
c. O(n)
d. O(log n)

16) Dynamic RAM consumes ———————————————— Power
and —————————— read and write cycle then the Stat
ic RAM.

a. more, faster

b. more, slower

c. less, slower

d. less, faster
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17) Which data structure is FIFO
a. Binary search tree
b. Stack

C.

d. Queue

18) Which of the following data structure, search complex
ity 1n average case 1s O(1)

a. Binary search tree

b. Stack

c. hash table

d. Linked list

19) Which of the following data structure has lowest insert
complexity:

a. hash table

b. Queue

c. Binary search tree

d. KD tree
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20) which of the following sorting algorithms has the high
est worst-case complexity:

a. Quick sort

b. Merge sort

c. bubble sort

d. All of them equal

21) The field used to detect errors over the entire user data
gram 1s

a) UDP header

b) Checksum

c) Source port

d) Destination port
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1- Write function to merge two single
dimensions arrays
2- 2- write the function to rotate the array for
example [1,2,3,4,5,6] it rotate by two becomse
[3,4,5,6,1,2] and don't copy the same example
3- Query by SQL
ER doauw) wlg> Lokl Jlgud] -£
4w 9 bandwidth 4 Lglacl Jl§w : STC Jlgw -0
2 dizw il Lglhall yie 50 49lieg 9 U yuas U
i § el CBll oS a3
UDP g TCP o @yl =)
plan-driven g agile ow @ all -V
8- 8- write the foure important attributes for
the Professional/good software
9- write pseudo code for finding Larger by
divide and conquer
10- illustrates bubble sort ad< z yi0 Jls acly
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~ The software quality attributes has been given the
acronym FURPS which can be pointed as:

functionality, usability, reliability, performance, and

supportability.
~ The FURPS quality attributes are described in brief:

Functionality: Refers to the degree of performance of the

software against its intended purpose.

Usability: Refers to the extent to which the software can

be used with ease.

Reliability: Refers to the ability of the software to provide

desired functionality under the given conditions.

Performance: Is measured by considering processing
speed, response time, resource consumption, throughput,

and efficiency.
Supportability: Refers to the ease with which software

developers can transfer software from one platform to

another, without (or with minimum) changes.
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(X| | ++y++)

1-112
2-211
3-121
4-221

Jlaze¥) o) JL ¥l e b g 130 alw L dls )
Encryption

Description

A&B

Non

Jot g oY) e W B o aSll 3 55
Pointer characteristic

Pointer address

Pointer physical

555 b ol )L

Hinclud<iostream.h>

Int class(int x,int&y,int*z)

Main()

h
A=1b=1,c-1;

If(X: 'y(
Cout<<&c
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ALTER TABLE

Integer (g5l it (3 C++
4 byte

size of data types in cpp ?
v -bytes
¢ -bytes

~ Compiler

Software.................... where the software is modified to
reflect changing customer .

Evolution

A prototype s .................. version of a software system

Initial

Stack follows the strategy of........
A. LIFO
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2— write the function to rotate the array for example
[1,2,3,4,5,6] it rotate by two becomse [3,4,5,6,1,2]

and don't copy the same example

public class Hello {
public static void main(String[] args) {
int[] input = { 1, 2, 3, 4, 5, 6, 7, 8 };
int k = 4;

System.out.println("Rotate given array " + Arrays.toString(input)
+ " by 4 places to the left.");

int[] rotatedArray = rotateleft(input, input.length, k);
System.out.println(“Rotated array: " + Arrays.toString(rotatedArray));

System.out.println("Rotate given array " + Arrays.toString(input)
+ " by 4 places to the right.");

rotatedArray = rotateRight{rotatedArray, rotatedArray.length, k);

System.out.println("Rotated array: " + Arrays.toString(rotatedArray));

L3

[ 0 29
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Int a=45 b=18;
While( a%b 1=0){
Int c=a;

a=b;

b=c%a;

h

cout<<b
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Layer

Data unit

Function

Examples

7. Application

6. Presentation

5. Session

Data

High-level APls, including resource
sharing, remote file access, directory
services and virtual terminals

HTTP, FTP, SMTP

Translation of data between a
networking service and an application;
including character encoding, data
compression and encryption/decryption

ASCII, EBCDIC, JPEG

Managing communication sessions, ie
continuous exchange of information in
the form of multiple back-and-forth
transmissions between two nodes

RPC, PAP

4. Transport

Segments

Reliable transmission of data segments
between points on a network, including
segmentation, acknowledgement and
multiplexing

TCP, UDP

3. Network

Packet/Datagram

Structuring and managing a multi-node
network, including addressing, routing
and traffic control

IPv4, IPv6, IPsec, AppleTalk

2. Data link

Bit/Frame

Reliable transmission of data frames
between two nodes connected by a
physical layer

IEEE 802.3/802.2

1. Physical

Bit

Transmission and reception of raw bit
streams over a physical medium

Fiber, Copper twisted wires

O giaSey! dd b
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application layer aib, ) o

Difterence Between Agile and Traditional (Waterfall or
Spiral) Development

Fundamental Assumptions

Traditional: Systems are fully specifiable, predictable, and
can be built through meticulous and extensive planning.
Agile: High-quality, adaptive software can be developed
by small teams using the principles of continuous design
improvement and testing based on rapid feedback and

change.

Control
Traditional: Process-centric

Agile: People-centric

Management Style
Traditional: Command-and-control

Agile: Leadership-and-collaboration
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Knowledge Management
Traditional: Explicit
Agile: Tacit

Role Assignment
Traditional: Individual—favors specialization
Agile: Self-organizing teams—encourages role

interchangeability

Communication
Traditional: Formal

Agile: Informal

Customer’s Role
Traditional: Important

Agile: Critical

Project Cycle
Traditional: Guided by tasks or activities
Agile: Guided by product features

Development Model
Traditional: Life cycle model (Watertfall, Spiral, or some
variation(

Agile: The evolutionary-delivery model

dors ilslieF 5L3



Desired Organizational Form/Structure
Traditional: Mechanistic

Agile: Organic

Technology
Traditional: No restriction

Agile: Favors object-oriented technology

“Frame “ not packet .
*Data link is responsible for moving frames .
* Network layer is responsible for the delivery of

individual packets.

*Physical layer : responsible for movement bits in

medium .

*Data link: responsible for moving frames from hop-to-

hop .

*Network layer: responsible for the delivery of individual

packets from sources-to-Destination .
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*Transport layer: responsible for delivery of messages

from process-to-process .

*Session layer: responsible for dialog control and

synchronization .

*Presentation layer: responsible for translation,

compression, and encryption .

* Application layer: responsible for providing services to

the user
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TCP - Transmission Control Protocol
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IP - Internet Protocol
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SSL - Secure Sockets Layer
Al bl Jad Sl e SSLJsS5s, adsaay

SMTP - Simple Mail Transter Protocol
L 39ASY) Lt L)Y SMITP U559 pasany

IMAP - Internet Message Access Protocol
3PS ) plomply gt IMAP U535y ptsiansy

POP - Post Office Protocol
ool ) 378V dpdl 23l e 39780V apd) Jpd POP U555 pasnns,

FTP - File Transfer Protocol
‘_}Sﬂ wu-\ SJ.@:-T o C)Lﬁll\ va e inml\ R FTP J}{j-”.jj

NTP - Network Time Protocol
AVl 5T o (Reld)) w3 anlil NTP (5559 pascnny

DHCP - Dynamic Host Configuration Protocol
M L} L}S“ wL;-‘ BJ.@J-&}! IP U‘-’JL"p M DHCP ijj:jj’ (‘J};Z.wg

Jlas)

SNMP - Simple Network Management Protocol
‘_}Sﬂ wu-\ QL{.\.& 8)\.3}! SNMP Jjgﬁ:jj’ (‘J};Z.wg
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LDAP - Lightweight Directory Access Protocol

LY e

ICMP - Internet Control Message Protocol
Al @ s Y adles s 29z ICMP (555,

ARP - Address Resolution Protocol
JB’\J- e SJ@J-Q\ ( g.")‘.ﬁjxﬁ ) U‘-’JL“C J@“y IP J) Mﬂb) ARP Jjgﬁ:jj’ (‘J};Z.wg
AP 3 pglis e Tolaze) Conld) 2 w1y

RARP - Reverse Address R esolution Protocol

ROWENE ORI+ L PR SPPRN]

BOOTP - Boot Protocol

PPTP - Point to Point Tunneling Protocol
Aol ol oy Jlasl 8 sy PPTP US55, aasany
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. ‘-"I?USh;‘ Pop, Enqueue (if thére is al
| Dequeue, Accessing an array elemen

Binary séargih;,l" e

Linear search

Summary
Sorting Algorithm Performance =~

algorithm | bestcase | avg case |worstcase| extra
memory

selection sort Oo(n?) O(n?) O(n?) o)
insertion sort O(n) Oo(n?) O(n?) o)
Shellsort | O(nlogn) | O(ni5) O(n'-3) oD
bubble sort O(n?) O(n?) O(n?) o)
quicksort | O(n Tog n) | O(n 1og n) O(n?) o)
mergesort | O(nlogn) | O(nlogn) | OCnlogn) O(n)

. Insertion sort is best for nearly sorted arrays.

» Mergesort has the best worst-case complexity, but requires extra
memorv — and moves to and from the temp array.
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A Calculating total transmission time of a
packet
N

pX¢

networking  propagation

I'm having some difficulty calculating the total time it
takes a packet to get from A to B, the question is:

"We have 200 bytes of data to send from A to B,
with a distance of 200km between them. Calculate
the total transmission time, assuming the speed of
the signal is 200,000 km/s and that the data rate is
1Mbps and that a header of 40 bytes has to be
added to the data before it is sent."

My understanding is that at some point you need to
factor in propagation and the speed of light (??) but
I'm unsure if it's needed in this case. Is there a
formula which can be used to work these types of
question out?
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so that x x= 2 is equivalent to x = x * 2. However, if variable contains an expres-
sion (for example, an array index), the expression is evaluated only once. Thus, the
code fragment

a[5] = 10;
J=3
alj++] += 2; // not the same as a[j++] = a[j++] + 2

leaves a[5] with value 12 and j with value 6.
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«Business»
Restaurant

>0

Customer

Have Me
\/

Advertise

>0

Advertiser

Provide

>0

Supplier

Supplies

Apply

>lo

Candidate

For Job

>lo

Contractor
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class Online Shopping )

Web User

login_id: String {id}

Customer

id: String {id}

password: String 1
state: UserState

address: Address
phone: Phone

email: String
1 Payment
«enumeration» 1 0.7 | ia: String {id}
UserState paid: Date
Account total: Real
2;\:, o details: String
Blocked 1 | 1d: String {id} 1 : .
Barined — @ biling_address: Address {ordered, unique}
is_closed: Boolean
open: Date o
closed: Date 1 * {ordered,
0.1 1 unique}
Order
Shopping Cart
number: String {id}
created: Date ordered: Date 1
1 shipped: Date
ship_to: Address
status: OrderStatus
total: Real
Lineltem 1
* {ordered, unique} | quantity: Integer * {ordered, unique}
- price: Price - -
line_item line_item «enumeration»
* OrderStatus
New
1 Hold
Shipped
Product Delivered
Closed
id: String {id}
name: String
supplier: Supplier
s i © uml-diagrams.org
Jlis
4 Risks for it company

Draw class diagram

Use case digram

dorsilyUieFE 5L3

ATrs

sl Jlse 4 S




ALy 3aie 5 Ao g Aland | LAY ae SN dnigd Jlgus ) o s
ISR

http://career.guru9 9.com/top- 1 O O -networking-
/interview-questions-answers

L3

[ 0 29

dora_ilyatf



w\ 2\3.3\3.«3\ &))\?CS @05

"‘GM C{q;{ L}"Y\ wb‘j\ "

Jars - AAH 5L

dare dlsldeHE L3



A Gl drslr — sl o ole qd — dpaseddt ALLAL) i)
?Talk about your self =
¢ el Clillge ™
¢ Ol daxt 508 (hdad (S ®
€ okt Ln ¢ Oyasling Jaall Vsj n o) 3i5 o) 8
YT Ry el Sy DI ol e B )
€ Pl (et S W
¢dpadad Aiboy  Buw Aaby 1 (flby SO Wlrg atul)ly I dg2 LI ) @
T ol oy ¢ M e el oK a sl adby
¥ lpin (o g Sl (8525 g ®
¢ Sgys L 80 Raseds (305G asid o ST W
QL@.MGBLMwfubdbd)umd\bobdjduu&wwbu”usf "
¢ Lgrs 3ot i) 3Ug Al padis Sod> G s o>y 5 @

(JAM G Sl Oladlge oy ¥ Uoll3 g}\j Ol A dblas colS ) s )

A Gl drslr — sl o ole qd — Az ddt ALLALN i)
W desly .cloud Ji e JL. =
. backend i 5 client Ji ol a2, o JL. =
compiler and interpreter  n 341 ¢ JL. =
b psle VL2 ) e L m
information security , cyber security cn 3,41 ¢ Jl. =

odems (55 xS gl e Sl m
(@'\J&Jj Gesdl L s .&jjtﬂ PURRTY

e ALLFE 5L3



.U\}&L\:\M\r,—w\rejl&ré—%—b;ﬁ\a&ﬁl\&u\

(AB]) s o 3

L ) e gl

(elS e ol

dmy )8hear g Gyt Sly e Bso 050 Blae oy 43 )
LSy SU e (oaley Ledst SLIS o Ul oyl B oyl s
(ST Lesly Lag) 11 g2aly e ) sl oyt

Ciee glatl llos!

¢ i be eSSl g

IYTSE eSS 2

i) ) ol e gl

.U\r&\im\r—w\rejl&ré—W\:\bL&\

ek B

ade p ikl g3 jaasd) e WISS

Slalrl oo aile Ly IS @3 gmps IS oa bl et cliaed OY
Ui Ml amalr & 5> Sl

Eheds 3ok 9 Leraday (STl slluy oh o a5y laad 13

st 35t ) asbed) JlasV) (5,53

e ALLFE 5L3

s



Wi S daslr — ol o gk g — dnasn i) ALALY Al

T o B g il mpm s gl b1
skl Joddl e Sl
?ﬂ)ﬂ*‘uré&}l&‘\ebuﬁj "

¢ Forin o @by @

€107 (55 0y95 ops Slie ad Oslly AIgdl 5 (5l ang ™

Cangd Jo s 2y H

A Sl drslr — sl o ole qd — Az ddt ALLALY i)

felody g ™

L gold iy Samalr (3 3l] zoB Lo 2 O

Goole] LSS al> o] ®

ol sl d) el @ e Gl 3 jewd eSS a5y @
55 ey~ 4 Ry~ Bpdlly pdid) plsily — ansgde )olaslald
(sl fog bt s & s Jagudl @ petn I a5l

Sl psle C-\M.BT gVl o ®

Cheshs Jlosl 3 sSa o ®

Plagdst Ll sl 3y ®

AV el Jle (s olaadl sy @

e ALLFE 5L3



A Gl daslr — Conl o ke pand — denaseid) ALLALY Al
C s e gl 3 =
€ 8doms el 0 2 sl
Ul e ) oS4 L WO S o Sl daisle gLy @
Tl Jl ol psle 2S5 arslr o sl 5 @
¢ AU Al Lo eld 2 gl @

.U\}&L\:\M\r,—w\rejl&ré—%—b;ﬁ\a&ﬁl\&u\

(Y gl dmgpe ¢ paasdly edl) e gL

sl g e ezl albl 1305 1S 25 (g0 Lo allal e I

EHENNCIPNEREV ROV W SIES ST PP PSRN WIT PP SOU
&»b; T

B 05K oy S el T el Ay e i M g ) L

plie [ sl (lawss B3e U aad) (3 Sl 51 pl dey Il @
R E g

Qhwdngfjwdf\ﬁb&gﬂ\&w\up—\ﬂdu u
S b S by les jlasl ad e OS5 suae 31 oy amasd)
Joidl 83y ) el ) MY Elle 16855550 St g ¢ pbea ),
Ll 2l

dare AisHE 5L3



W G daslr — OIS ged — Eenasedd) AL A

introduce your self /

G Al 5) o5y ¢ €506 ol aesad) 3 giae 3¢ € esas mo shos Gew Ja/Y
¢ & @ sa Oy cls V) Clie

Sl el 4 i) b ¢ § Slanl 3L (b S aslel aiby a5 i Y
B! e el WV (8

¢ deshs Jlas) glasy o o /8

¢ s ol OV L s U e o

¢ el s s /1

?c)@s&ﬁs /v

wasy § Y o S ebly 2T e slig § Gavesdl Oldontas 21 2l /A
cee 1Sy 39 WIS

A 2l e el JLat JIgdi Vs wp € aasual] pasd) 315 of 20/4
alzol

€ 5ol oS ¥ Bdsl o L 4oVl CBlenVL dlese B 595 o0 @;JL/\ .
W s ol (ms O Sy alall Ll 356 gl 301 josmaz Jlige /1)

¢ els a5

¢ Hlas o €Y Vg dmgze [V Y

W G daslr — OIS ged — Eenasedd) AL A
ULJAJY\JMU;«L;J.{S L
o dbgrae 35 5 Oladl G ST oleln lazas el Slie (b ) @
¢ nddlys

¢ sy Jl- 3 b £l b

dare AisHE 5L3



alile (S D8 Il 2 Al € ikl (3 Gk e el ST 2l

O ookl oo bi sV Y 5 pasdl (nd GV ¢ O e pes 2

?Gﬂv}?gﬁ;bwwb—é)&u&&@ﬂuﬂ n

€ g o itk e a3 S

follal) dslezr V) g ) 2l o Clalas a7

Sl Jl2 3 olyshedl 2T 2y ®

¢ lertid el )y 0 WS ESs s s il )

?u&.ﬁd\t\jﬁﬂ\ u

?m&\@uafﬁzdwi@@ij n

O oA dm iy @

Cird gyt oSo il e

ol ol op S Lald el ol 1S Srgrly J 3 8

¢ Joinell @ et (SE € pbsd @

?M‘J@&ﬁ"“ﬂ u

P RUILGEA/INU PR

CNY g Slae g 38l die 5 00 Slan¥) e il ®

€ kel (3 psled pld LYl o gl

OGS plall b e 5hl i (3 Gnog 056 Ay ST
NENCUIPRN PO I FC T

S pnd — A ) AL Az
folagV) lieloraly o

s AU 5L3



L 16wt W pe jaed e U € uls (eSS s ) 3
Casisl M a3 jaasd) 3 el (eSS
felalal ws ol Sl 51 oale @

it oSl ey as
?@#Jms@@uy "
?élf_ﬁj\jjrmlﬂwm\bu "

Cheelazr Vg Geendd] 2 Wl o DU mn (b0 Sy
?L;.GLJ,-\ 9 63,4 Jandl plois |» @

€ ombrat (S 3l cUSasl o 1L, ®

s oS el 3 e o)l )y @

FS 3 ol 8 s ST

SOV L (o985 113U §opygs 13U 5Ll 510 Bola chljle

Sloghas 4lai pd — Enasetd) ALY Ao

§ asobs Jlesl SSe .

¢ ilx g pg b ol @

?mlx:i\ RAW YT

ol WS e b 2y

¥ s g LS L 03]

information , information systems .. :;» database |» =
¢ database . s> system

QUM\CA@W%{.

s AU 5L3



(@Al s bl =ilss)

33\l — Cnl> 2d — dpeseddl Ayldl) il

eV Ayl e 3

folagV) lieloraly o

¢ oasdle ol aJof fule WloSS Cpag il 3 @
s (03555 s o)

00 Jis & Jem SO0 il 3 gedile o) ®
felalal ws ol Sl 51 oale @

frotl DStd) oy aS™

fieshs Jlsl 3 Sa Jo ™

? skl o) il Cpodiz Lo @

ieloxx Vg Gpwddl 2 Wl 0 OU o (005 (2S5 @
00 ady S sled o 2,40 Jodl) il fo ®

08 (S5md g Sbiin B o 2ol 1L

¢ Letal S5l 3 conl> 1K pgnd oS @
SOV ) (oo 415U Sopus 13U 95 )Ll BTN Bola chlyle

e ALLFE 5L3



il 22 — dpaaseid) AL dhiw!
i ek e e W
lin ot ale W
(b)) Hogin o WIS
VeV @ s ol ole W
Cae WSO ihaad e e b b pes Ak @
analdl (3 cliasi) ale @
(Lo e 3Y ) Oodl dmslr WLy AL ®
b o alr) i sl e ) Jlall el aid) (3 eSS sale

(©

.wpg‘jugwbwwmssu m

e ALLFE 5L3



5 3ly s b g ¢ SO ks 3 ST UT S s ks ol pl)
o) 1 0TV ) 2 bl cagsl Lo oW pladl 54 O g ¢ b2l 2o 5 35

&qgﬂ&bfbbﬁ-@fdﬁ\ﬂ\h@Oiﬁj<ﬁﬁ-¢¢jﬁj@b@\
D sA 2o (Sl

Dbyl dmalr (3 pdedll Cab g lglas —

g e plaVly laasadl e daldl e -

oPsad wl) n B ol ped s e Lus¥ly il e il Liloy -

C gl LY

oF Ble O el (a3 L adl g Wi pmetall (502 L) ol -

¢ ol inan il c bl el ) el eV T 3 sdate e LS
(oK

ezt J e Jly wloy ¢ el Qi bl Ll () jLas V) ey -
- Aeasid) Alial) el )

S5 o ¢ SlanVU Ebly L) Joe dele dlenl @ an g pasendl Al (3 -

by adns b ¢ Al (3 Wl weadl GL L € sl Z g g0 9a Lo § SlaY)
Jolsdl Ols s s € 0w 130 Ll ebadl (35 o8 pois ST ) €

(¢ anls g mdl e ¢ eloznl
M&Ju@jw\&w@psuujmij@;ﬁjm-
Sl ks sl 50 € N1 g s Gy G Lo ¢ ol il )
Pl dib oS Loy 55 8 ae Cllay (S 5 € Uy e BN Lo €
(L i

by o ekl AL (3 4 L) WBsaae WLy Slhas (e dls> ) 3de day —

s AU 5L3



gw}ugMGM;VJ&%@}J\&&&W@YW\&GML}&}@—

L ey egln L]

o 6T Yy el Vg STt Vg Sllanlgly sa ¢ oy L (Sela) Jydle 3ulla JDs
SS9 oSy i S G Of Y Bl sledd) Lo g ¢ L2
iz ply e (S

o il LU O O lpadeh 5 ¢ AW o (S5l Tsiley A1 e (S gaball
sk edab U S L g Slies

@ Wb o3l 5 el B3og L alE e oo U ¢ slead) V] cLad)l i e
st L SGl

o o Sembiag el Al 0T Hgale) 2adyll Jo lsthiam Lo dl e Y ) O5laid Y
Bl gely 0pb sy aile Y1 Isoi (Sl

CeSle WSSl L e sl

Nty ala) Jsaee

D a1 sl glly Ll lal,all (3 Loy dlis 1S3 Jlow Lols deat sda
Oshazt Slaaldl v e oy U Joakl Sleald I ol Jo¥1 Lkt Vg1 )
AUy L) dysy Gpaelt) Shadl 2y

St ) LY Gamelr a3 %0 v Jaas %0 7 s LU Gl Sl

alas /Y

e ALLFE 5L3



AW

Shais e Lie j\MQPO.,\J-—

Lie ol of das iy Jo cwds pd -

3 aabll Il ol #)E S w -

Ll golo L;;au—

e Canally 5530 bl als —

o ale o) -

SUks 131 ) o) 2ISIL W o5 Ay g —

o) pp Okl g b g Glshtey Ll ol (o)l B ad et 13 -
4 ik )

TA) A LB B8 (8 cage By -

Lze SULE 13 Wl byl aed 005 59U g —

Shaad o g ol g S8 -

Ao sLdl pgan o aie Wil S 0sli (SS £ 9,00 ol 2 F St s 131 -
e

IS () Sanalr pde o) gs eole Mo dalal) B o ale g 2ht —
s ogle e Sl g3 430 e sl (SSG -

o o Sly L Ogdon ol s 13 s (S lge St SR -
Jol) ol Ay 1y agalb) (65 Bl Cgls Jol OO plal Elle s LI
i 2y gl

spiS” OMWlie lp0lgy AN YR (3 ol (4 e d oy U ST 1

Olees e U}M;JYJ @&U &&}J\ Lé.(f\ =) 39

s AU 5L3



L3

[ 0 29

dore_dllasFE



